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ψ1 = π 
ψ2 = 2mπ 
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 Imkw k. harmonicznych 
dla parametru nagrzewnicy p = 0,05 

m 1 2 3 4 5 6 7 

1 0,40 0,25 0,05 0,03 0,01 0,01 0,01 

2 0,20 0,55 0,10 0,05 0,02 0,01 0,01 

3 0,10 0,62 0,15 0,06 0,03 0,02 0,01 

4 0,05 0,20 0,55 0,09 0,05 0,03 0,02 

5 0,04 0,13 0,55 0,17 0,08 0,04 0,02 

6 0,02 0,08 0,22 0,51 0,10 0,06 0,03 

7 0,02 0,06 0,13 0,52 0,18 0,06 0,03 

8 0,02 0,05 0,09 0,22 0,47 0,10 0,05 

9 0,01 0,04 0,07 0,13 0,47 0,18 0,07 

10 0,01 0,03 0,05 0,09 0,20 0,43 0,11 

11 0,01 0,02 0,04 0,07 0,13 0,43 0,18 

12 0,01 0,01 0,02 0,06 0,10 0,20 0,40 
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ψ1 = π 
ψ2 = 2mπ 
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 Imkw k. harmonicznych 
dla parametru nagrzewnicy p = 0,1 

m 1 2 3 4 5 6 7 

1 0,60 0,25 0,06 0,03 0,02 0,01 0,01 

2 0,20 0,50 0,10 0,05 0,04 0,02 0,01 

3 0,10 0,55 0,15 0,06 0,05 0,02 0,01 

4 0,05 0,20 0,43 0,08 0,05 0,02 0,01 

5 0,03 0,12 0,44 0,16 0,06 0,03 0,02 

6 0,02 0,08 0,20 0,37 0,10 0,04 0,02 

7 0,02 0,06 0,13 0,37 0,16 0,06 0,03 

8 0,01 0,04 0,09 0,20 0,31 0,10 0,05 

9 0,01 0,04 0,07 0,13 0,30 0,16 0,06 

10 0,01 0,03 0,05 0,09 0,18 0,27 0,10 

11 0,01 0,02 0,04 0,07 0,12 0,25 0,15 

12 0,01 0,02 0,04 0,06 0,09 0,17 0,23 

13 0,01 0,01 0,02 0,04 0,07 0,12 0,23 
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ψ1 = π 
ψ2 = 2mπ 

������������� wδ
1 oraz wδ  

dla parametrów nagrzewnicy p:  

wδ m 
p = 0,1  p = 0,05  

wδ
1 

1 0,83 0,84 0,80 

2 0,83 0,83 0,72 

3 0,79 0,78 0,66 

4 0,80 0,80 0,61 

5 0,78 0,78 0,57 

6 0,78 0,79 0,54 

7 0,77 0,77 0,52 

8 0,77 0,78 0,50 

9 0,77 0,77 0,48 

10 0,77 0,77 0,46 

11 0,76 0,76 0,45 

12 0,76 0,77 0,43 

13 0,75 – 0,42 
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